A XA D

A AU MY SE(AY - SAIIYRXUUX/AHTE - DEF)

s 2EE ANy JY EER=E)
SA - ZH - C9I(B) - HIRAY - BaS ol ko o 8 o HImS2
Ol X &k 34,120,822 43,286,822 19,166,000

= 24,700,000 33,150,000 8,450,000

< 9,420,822 10,136,822 A716,000

%Igl&l AlaH SE(MY - SAISLUUX/AGRE - 1D 32,419,900 41,919,900 9,500,000

= 24,700,000 33,150,000 8,450,000

= 7,719,900 8,769,900 1,050,000

dEE =iy |4 32,419,900 41,919,900 9,500,000

= 24,700,000 33,150,000 8,450,000

< 7,719,900 8,769,900 1,050,000

SAaEMA X A (2D) 2,250,000 375,000 1,875,000

= 1,500,000 300,000 1,200,000

< 750,000 75,000 675,000

403 RIS AHE01H 2,250,000 375,000 1,875,000

= 1,500,000 300,000 1,200,000

& 750,000 75,000 675,000

01 REXIEHRIAt 2 2 2 2,250,000 375,000 1,875,000

OxASEA 2=HIE X2 2,250,000 375,000 1,875,000

= 1,500,000 300,000 1,200,000

= 750,000 75,000 675,000

=AMIINSH 28 AE(=1) 20,302,600 31,677,600 A 11,375,000

= 16,250,000 25,900,000 19,650,000

< 4,052,600 5,777,600 A1,725,000

403 MR EHMSAHE01H 20,302,600 31,677,600 11,375,000

= 16,250,000 25,900,000 9,650,000

< 4,052,600 5,777,600 A1,725,000

01 RIXIEHHIXtE 24 20,302,600 31,677,600 A 11,375,000

OxA&MIINST RUXIE 20,302,600 31,677,600 A 11,375,000

= 16,250,000 25,900,000 9,650,000

< 4,052,600 5,777,600 A1,725,000

g[%%ag; DESHAY - SAIULMUX/AHEE - D 1,687,000 1,353,000 334,000

2]

A AESH 1,197,000 863,000 334,000

ADIESHs |8 AF(FIHEXNH) 834,000 500,000 334,000

403 MXISHHSX=Z01H 834,000 500,000 334,000

02 SIS0t =S A A 834,000 500,000 334,000
OFAHE JIBEIA AT & SE A D8t

-= 334,000 0 334,000
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r
HE: QUK ALY S (AR SAILUNK/MAXE - DT
CHOl AR 22N S (XATRAILMSESIH)
SN - BE - SA(B) - NIRAY - BES 0 &t ol o
OfILA Kl A4 21 Dt 1,734,200 1,764,200
HATI ey SEe - BLIYRLT/CETE - 2 1,734,200 1,764,200
=
S 2202 SH(NATRALHSZE) 1,734,200 1,764,200
o5l s AT R HE] 49,200 79,200
308 XHXI SHAIS 0/ & 49,200 79,200
11 ZIISHHSBAHIS A 49,200 79,200
O2M+AZE N 49,200 79,200
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